
1 | P a g e

SSC Scientific Assistant (IMD) 24 Nov 2017 Shift-2(Electronics) 

QID : 601 - Select the related word from the given alternatives. 

Rain : Water :: Hail : ? 

Options: 

1) Vapour

2) Storm

3) Cold

4) Ice

Correct Answer: Ice 

QID : 602 - Select the related letters from the given alternatives. 

FHJ : CEG :: LNP : ? 

Options: 

1) IKM

2) HJL

3) NPR

4) RTV

Correct Answer: IKM 

QID : 603 - Select the related number from the given alternatives. 

1/4 : -1/2 :: -1/10 : ? 

Options: 

1) -1/5

2) 1/20

3) 1/5

4) -1/20

Correct Answer: 1/5 

 QID : 604 - Select the odd word from the given alternatives. 

Options: 

1) Professor

2) Postgraduate

3) Graduate
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4) Master

Correct Answer: Professor 

QID : 605 - Select the odd letters from the given alternatives. 

Options: 

1) BFJ

2) KOS

3) TXB

4) GIK

Correct Answer: GIK 

QID : 606 - Select the odd number from the given alternatives. 

Options: 

1) 144

2) 225

3) 157

4) 256

Correct Answer: 157 

QID : 607 - A series is given, with one word missing. Choose the correct alternative from the given 

ones that will complete the series. 

Parrot, Other, Eruption, Onset, Etcetera, ? 

Options: 

1) Suavely

2) Lagging

3) Holding

4) Ransom

Correct Answer: Ransom 

QID : 608 - A series is given, with one term missing. Choose the correct alternative from the given 

ones that will complete the series.? 

AAAAAAAB, BAAAAAAB, BAAAAABB, BBAAAABB, BBAAABBB, ? 

Options: 

1) BBABBBB

2) BBBAAABBB

3) BBBBBBBB
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4) BBBAABBB

Correct Answer: BBBAABBB 

 QID : 609 - A series is given, with one number missing. Choose the correct alternative from the 

given ones that will complete the series. 

1.4, 2.2, ? , 3.8, 4.6 

Options: 

1) 2.8

2) 3.2

3) 3

4) 3.4

Correct Answer: 3 

QID : 610 - Parinaaz's birthday is on Saturday 29th April. On what day of the week will be Kiara's 

Birthday in the same year, if Kiara was born on 5th September? 

Options: 

1) Wednesday

2) Friday

3) Tuesday

4) Thursday

Correct Answer: Tuesday 

QID : 611 - The weights of 4 boxes are 30, 90, 80 and 20 Kg. Which of the following cannot be the 

total weight, in kilograms, of any combination of these boxes and in a combination a box can be 

used only once? 

Options: 

1) 220

2) 200

3) 190

4) 210

Correct Answer: 210 

QID : 612 - From the given words, select the word which cannot be formed using the letters of the 

given word. 
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COGENTLY 

Options: 

1) CLONE

2) GENTLY

3) CLUNG

4) CENT

Correct Answer: CLUNG 

QID : 613 - If MESTIZO is coded as KCQRGXM, then how will YAK be coded as? 

Options: 

1) WYI

2) YKS

3) TYL

4) IFG

Correct Answer: WYI 

 QID : 614 - In a certain code language, '+' represents '×', '-' represents '+', '×' represents '÷' and '÷' 

represents '-'. What is the answer to the following question? 

9 × 3 ÷ 12 + 5 - 24 = ? 

Options: 

1) -33

2) 3

3) 39

4) 69

Correct Answer: -33 

QID : 615 - If 17$5 = 11, 3$21 = 12, 2$4 = 3 then what is the value of 42$6 = ? 

Options: 

1) 24

2) 22

3) 57

4) 76

Correct Answer: 24 
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QID : 616 - 

Options: 

1) 6

2) 4

3) 18

4) 10

Correct Answer: 4 

 QID : 617 - Two motorcyclists P and Q start from the same point. P rides 17 km West, then turns 

South and rides 11 km, then turns to his right and rides 10 km. Q rides 20 km South, then turns to 

his right and rides 27 km. Where is Q with respect to P now? 

Options: 

1) 9 km North

2) 31 km South

3) 31 km North

4) 9 km South

Correct Answer: 9 km South 

QID : 618 - In the question two statements are given, followed by two conclusions, I and II. You have 
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to consider the statements to be true even if it seems to be at variance from commonly known facts. 

You have to decide which of the given conclusions, if any, follows from the given statements. 

Statement 

No two-wheelers are motorcycles. 

All motorcycles are bicycles. 

Conclusion 

Some two-wheelers are bicycles. 

No motorcycles are two-wheelers. 

Options: 

1) Only conclusion I follows

2) Only conclusion II follows

3) Both I and II follow

4) Neither I nor II follows

Correct Answer: Only conclusion II follows 

QID : 619 - 

Options: 

1)



7 | P a g e

2) 

3) 

4) 

Correct Answer: 

QID : 620 -  
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Options: 

1) F,G,H

2) E,C,D

3) A,C

4) B,F

Correct Answer: A,C 

QID : 621 - 
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Options: 

1) 

2) 

3) 

4)
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Correct Answer: 

QID : 622 -  

Options: 

1) 

2) 

3)
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4) 

Correct Answer: 

QID : 623 -  

Options: 

1) 

2)
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3)  

 

4)  

 

Correct Answer:  

 

 

 

 

 

 

 

 

 

 

 

QID : 624 -  



WWW.ALLEXAMREVIEW.COM  WWW.ALLEXAMREVIEW.IN 

13 | P a g e

Options: 

1) 

2) 

3) 

4)
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Correct Answer:  

QID : 625 -  
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Options: 

1) 40,20,56,55 

2) 32,00,56,89 

3) 11,41,78,67 

4) 97,75,01,11 

Correct Answer: 97,75,01,11 

 

QID : 626 - What least number must be added to 728, so that the sum is completely divisible by 11? 

Options: 

1) 9 

2) 7 

3) 5 

4) 3 

Correct Answer: 9 

 

QID : 627 - A can do 2/3rd of a job in 18 days and B can do 1/3rd of the job in 18 days. If they work 

on it together, in how many days can they do half of the job? 

Options: 

1) 12 

2) 15 

3) 9 

4) 18 

Correct Answer: 9 

 

 QID : 628 - What is the area (in sq cm) of an equilateral triangle of side 16 cm? 

Options: 

1) 128√3 

2) 64√3 

3) 32√3 

4) 96√3 

Correct Answer: 64√3 

 

 QID : 629 - What is the effective discount (in %) of two successive discounts of 10% and 40%? 

Options: 

1) 50 
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2) 36 

3) 55 

4) 46 

Correct Answer: 46 

 

 QID : 630 - Profit of Rs 49,800 has to be divided between three partners A, B and C in the ratio 

4:7:9. How much does B (in Rs) get? 

Options: 

1) 17430 

2) 9960 

3) 18450 

4) 22410 

Correct Answer: 17430 

QID : 631 - The average weight of P, Q and R is 84 kg. If the average weight of P and Q be 86 kg 

and that of Q and R be 75 kg, then what is the weight (in kgs) of Q? 

Options: 

1) 65 

2) 75 

3) 70 

4) 80 

Correct Answer: 70 

QID : 632 - A shopkeeper by selling 9 items, earns a profit equal to the selling price of 1 item. What 

is his profit percentage? 

Options: 

1) 25 

2) 12.5 

3) 20 

4) 10 

Correct Answer: 12.5 

QID : 633 - What is the value of 16% of 25% of 400? 

Options: 

1) 16 

2) 8 

3) 40 

4) 160 

Correct Answer: 16 
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 QID : 634 - To cover a distance of 90 km in 1 hour 15 minutes what should be the average speed of 

the car in meters/second? 

Options: 

1) 10 

2) 15 

3) 20 

4) 25 

Correct Answer: 20 

QID : 635 - In 3 years at simple interest the principal increases by 24%. What will be the compound 

interest (in Rs) earned on Rs. 5,000 in 2 years at the same rate? 

Options: 

1) 725 

2) 840 

3) 832 

4) 816 

Correct Answer: 832 

 

 QID : 636 - If 5x/6 - (4/3)(2 - 3x/2) = 1/3 , then what is the value of x? 

Options: 

1) 17/18 

2) -18/17 

3) 18/17 

4) -17/18 

Correct Answer: 18/17 

 

QID : 637 - If a3 + b3 = 28 and ab = 3, then what is the value of a + b? 

Options: 

1) 2 

2) 4 

3) 9 

4) 3 

Correct Answer: 4 

 

 QID : 638 - Thrice a fraction is greater than its reciprocal by 46/7. What is the fraction? 
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Options: 

1) 7/3 

2) 3/7 

3) 5/4 

4) 4/5 

Correct Answer: 7/3 

 

QID : 639 - What is the sum of the first 13 terms of an arithmetic progression if the 5th term is -2 and 

the 8th term is 7? 

Options: 

1) -61 

2) 52 

3) -15 

4) 72 

Correct Answer: 52 

 

 QID : 640 - What is the reflection of the point (-2, 5) in the line x = 1? 

Options: 

1) (4 , -5) 

2) (4 , 5) 

3) (-4 , -5) 

4) (-4 , 5) 

Correct Answer: (4 , 5) 

 

 QID : 641 - Point P is the midpoint of segment AB. Co-ordinates of P are (-5, -2) and A are (-2, 0). 

What are the co-ordinates of point B? 

Options: 

1) (-8, -4) 

2) (-8, 4) 

3) (8, -4) 

4) (8, 4) 

Correct Answer: (-8, -4) 

 

QID : 642 - What is the slope of the line perpendicular to the line passing through the points (2, -5) 

and (4, 0)? 
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Options: 

1) -5/2 

2) 2/5 

3) -2/5 

4) 5/2 

Correct Answer: -2/5 

 

 QID : 643 - ?ABC is similar to ?PQR. If ratio of perimeters of ?ABC : ?PQR is 3:5 and if PQ = 15 

cm, then what is the length (in cm) of AB? 

Options: 

1) 9 

2) 10 

3) 12 

4) 8 

Correct Answer: 9 

 

QID : 644 - What is the value of (√2) Sec 30o + (1/√2 )Tan 60o =? 

Options: 

1) 7/6 

2) 5/√6 

3) 5/6 

4) 7/√6 

Correct Answer: 7/√6 

 

QID : 645 - ? LMN is right angled at M. If m∠N = 30o, then 

Tan L x (1/2) Cosec L =? 

Options: 

1) 2 

2) 1/√2 

3) 1 

4) 1/2 

Correct Answer: 1 

 

QID : 646 - If Sin θ = 12/37 , then, 

Cot θ = ? 
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Options: 

1) 35/12 

2) 12/35 

3) 37/12 

4) 35/37 

Correct Answer: 35/12 

 

QID : 647 -  

 

In which division, the number of students who passed in Math was greater than those who passed in 

Science? 

Options: 

1) B 

2) A 

3) C 

4) D 

Correct Answer: B 
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 QID : 648 -  

 

If division B has 50 students, how many students (in %) failed in Science? 

Options: 

1) 40 

2) 15 

3) 80 

4) 30 

Correct Answer: 80 

 

QID : 649 -  
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If division C has 40 students how many students (in %) passed in both the subjects? 

Options: 

1) 75 

2) 60 

3) 30 

4) 40 

Correct Answer: 75 

 

QID : 650 -  
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If the top 20% of students who passed in Math and top 40% of those who passed in Science are to 

be awarded certificates, how many certificates need to be printed? 

Options: 

1) 65 

2) 23 

3) 42 

4) 44 

Correct Answer: 65 

 

QID : 651 - In the following question, one part of the sentence may have an error. Find out which 

part of the sentence has an error and click the button corresponding to it. If the sentence is free from 

error, click the "No error" option. 

I want to show (1)/ people there is as much (2)/ more we can offer. (3)/ No Error (4) 

Options: 

1) 1 

2) 2 

3) 3 
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4) 4 

Correct Answer: 2 

 

QID : 652 - In the following question, one part of the sentence may have an error. Find out which 

part of the sentence has an error and click the button corresponding to it. If the sentence is free from 

error, click the "No error" option. 

The whole family (1)/ would burst into (2)/ peals for laughter. (3)/ No Error (4) 

Options: 

1) 1 

2) 2 

3) 3 

4) 4 

Correct Answer: 3 

 

QID : 653 - The sentences given with blanks are to be filled with an appropriate word(s). Four 

alternatives are suggested for each question. For each question, select the correct alternative and 

click the button corresponding to it.Green Acres is a full-service restaurant as well as a 

______________ club. 

Options: 

1) happen 

2) happenings 

3) happening 

4) happenstance 

Correct Answer: happening 

QID : 654 - In the following question, the sentence is given with blank to be filled in with an 

appropriate word. Select the correct alternative out of the four and indicate it by selecting the 

appropriate option. 

The tiny deer stood looking at them with _________ eyes. 

Options: 

1) anxiously 

2) anxiousness 

3) anxiety 

4) anxious 

Correct Answer: anxious 
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QID : 655 - In the following question, out of the four alternatives, select the word similar in meaning 

to the word given.  

Contemptuous 

Options: 

1) Flattering 

2) Derisive 

3) Extol 

4) Tout 

Correct Answer: Derisive 

 

QID : 656 - In the following question, out of the four alternatives, select the word similar in meaning 

to the word given.  

Scramble 

Options: 

1) Harmonise 

2) Melee 

3) Tabulate 

4) Codify 

Correct Answer: Melee 

 

QID : 657 - In the following question, out of the four alternatives, select the word opposite in 

meaning to the word given.  

Contradiction 

Options: 

1) Concurrence 

2) Dispute 

3) Conflict 

4) Discrepancy 

Correct Answer: Concurrence 

 

QID : 658 - In the following question, out of the four alternatives, select the word opposite in 

meaning to the word given.  

Resolute 

Options: 

1) Complacent 

2) Adamant 
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3) Obstinate 

4) Staunch 

Correct Answer: Complacent 

 

QID : 659 - In each of the questions, four alternatives are given for the Idiom/Phrase. Select the 

alternative which best expresses the meaning of the Idiom/Phrase and click the button 

corresponding to it. 

Take something for granted 

Options: 

1) Receive gifts and favours from others for your venture 

2) Assume that something is true without questioning it 

3) Borrow money and promptly forget to repay 

4) Take something without permission but with knowledge of the person 

Correct Answer: Assume that something is true without questioning it 

 

QID : 660 - In each of the questions, four alternatives are given for the Idiom/Phrase. Select the 

alternative which best expresses the meaning of the Idiom/Phrase and click the button 

corresponding to it. 

Wild goose chase 

Options: 

1) A bird hunting trip where you hunt with the help of dogs 

2) Have a great fun time with friends 

3) Pursue something with half hearted interest 

4) A frustrating or lengthy undertaking that accomplishes little 

Correct Answer: A frustrating or lengthy undertaking that accomplishes little 

  

QID : 661 - A sentence/a part of the sentence is bracketed. Four alternatives are given to the 

bracketed part which will improve the sentence. Choose the correct alternative and click the button 

corresponding to it. In case no improvement is needed, click the button corresponding to "No 

improvement". 

He (struggle) to make ends meet. 

Options: 

1) was struggle 

2) was struggling 

3) are struggling 

4) No improvement 
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Correct Answer: was struggling 

 

QID : 662 - A sentence/a part of the sentence is bracketed. Four alternatives are given to the 

bracketed part which will improve the sentence. Choose the correct alternative and click the button 

corresponding to it. In case no improvement is needed, click the button corresponding to "No 

improvement". 

Every person (have to go) through different stages in life. 

Options: 

1) has to go 

2) to go 

3) is going 

4) No improvement 

Correct Answer: has to go 

 

 QID : 663 - Out of the four alternatives, choose the one which can be substituted for the given 

words/sentences and click the button corresponding to it. 

Understand a difficult problem after much thought 

Options: 

1) Fathom 

2) Confound 

3) Obscure 

4) Perplex 

Correct Answer: Fathom 

 

QID : 664 - Out of the four alternatives, choose the one which can be substituted for the given 

words/sentences and click the button corresponding to it. 

Widespread disgust incurred by someone as a result of their actions. 

Options: 

1) Affection 

2) Exaltation 

3) Exoneration 

4) Odium 

Correct Answer: Odium 

 

QID : 665 - Four words are given, out of which only one word is spelt correctly. Choose the correctly 

spelt word and click the button corresponding to it. 
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Options: 

1) hazzardous 

2) hazardouse 

3) hazzardouse 

4) hazardous 

Correct Answer: hazardous 

 

QID : 666 - Four words are given, out of which only one word is spelt correctly. Choose the correctly 

spelt word and click the button corresponding to it. 

Options: 

1) impassive 

2) impasive 

3) impasseve 

4) impaseve 

Correct Answer: impassive 

  

QID : 667 - The question below consists of a set of labelled sentences. Out of the four options given, 

select the most logical order of the sentences to form a coherent paragraph.  

After being exposed to a  

X-diet also spent more time in  

Y-rapid-eye-movement (REM) sleep 

Z-stressor, the rats on the prebiotic 

Options: 

1) YZX 

2) YXZ 

3) XZY 

4) ZXY 

Correct Answer: ZXY 

QID : 668 - The question below consists of a set of labelled sentences. Out of the four options given, 

select the most logical order of the sentences to form a coherent paragraph.  

Art has many uses  

X-to beautify and  

Y-force viewers to ponder 

Z-and sometimes it can be used  

Options: 

1) ZXY 
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2) YZX 

3) YXZ 

4) XZY 

Correct Answer: ZXY 

 

QID : 669 - In the following question, a sentence has been given in Active / Passive voice. Out of the 

four alternatives suggested, select the one which best expresses the same sentence in Passive / 

Active voice. 

The doctor shall have examined ten patients by 10 O’clock. 

Options: 

1) Ten patients will have being examined by 10 O’clock by the doctor. 

2) Examination of ten patients was being done by the doctor by 10 O'clock. 

3) Ten patients will have been examined by 10 O’clock by the doctor. 

4) Examination of ten patients shall have been done by the doctor by 10 O'clock. 

Correct Answer: Ten patients will have been examined by 10 O’clock by the doctor. 

QID : 670 - In the following question, a sentence has been given in Direct / Indirect speech. Out of 

the four alternatives suggested, select the one which best expresses the same sentence in Indirect / 

Direct speech. 

“That is the best part.” she told them. 

Options: 

1) She told them that that is the best part. 

2) She tells them that that was the best part. 

3) She tells them that that is the best part. 

4) She told them that that was the best part. 

Correct Answer: She told them that that was the best part. 

 

QID : 671 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

Science is all about details, precision, accuracy, and it is ____________ 99 per cent perspiration. 

The beauty and joy in doing science lies in those rare moments _____________ the pieces of a 

puzzle magically come together. To adapt from Shelley, the shadow indeed becomes 

____________ important than the substance. I suppose one could put some of this together and 

disseminate a simplified, sanitised version to the public but in the end, science is a ___________ 

individualistic, personal affair. Most honest scientists will tell you that they are ever so grateful that 
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they are _____________ by their governments to do something that they would have done anyhow 

for free. 

Science is all about details, precision, accuracy, and it is ____________ 99 percent 

Options: 

1) in 

2) indeed 

3) into 

4) inside 

Correct Answer: indeed 

 

QID : 672 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

Science is all about details, precision, accuracy, and it is ____________ 99 per cent perspiration. 

The beauty and joy in doing science lies in those rare moments _____________ the pieces of a 

puzzle magically come together. To adapt from Shelley, the shadow indeed becomes 

____________ important than the substance. I suppose one could put some of this together and 

disseminate a simplified, sanitised version to the public but in the end, science is a ___________ 

individualistic, personal affair. Most honest scientists will tell you that they are ever so grateful that 

they are _____________ by their governments to do something that they would have done anyhow 

for free. 

science lies in those rare moments _____________ the pieces of a puzzle 

Options: 

1) then 

2) than 

3) when 

4) so 

Correct Answer: when 

 

QID : 673 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

Science is all about details, precision, accuracy, and it is ____________ 99 per cent perspiration. 

The beauty and joy in doing science lies in those rare moments _____________ the pieces of a 

puzzle magically come together. To adapt from Shelley, the shadow indeed becomes 

____________ important than the substance. I suppose one could put some of this together and 

disseminate a simplified, sanitised version to the public but in the end, science is a ___________ 
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individualistic, personal affair. Most honest scientists will tell you that they are ever so grateful that 

they are _____________ by their governments to do something that they would have done anyhow 

for free. 

the shadow indeed becomes ____________ important than the substance. 

Options: 

1) to 

2) more 

3) as  

4) so 

Correct Answer: more 

 

 QID : 674 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

Science is all about details, precision, accuracy, and it is ____________ 99 per cent perspiration. 

The beauty and joy in doing science lies in those rare moments _____________ the pieces of a 

puzzle magically come together. To adapt from Shelley, the shadow indeed becomes 

____________ important than the substance. I suppose one could put some of this together and 

disseminate a simplified, sanitised version to the public but in the end, science is a ___________ 

individualistic, personal affair. Most honest scientists will tell you that they are ever so grateful that 

they are _____________ by their governments to do something that they would have done anyhow 

for free. 

science is a ___________ individualistic, personal affair.  

Options: 

1) highly 

2) high 

3) higher 

4) highest 

Correct Answer: highly 

 

QID : 675 - In the following passage, some of the words have been left out. Read the passage 

carefully and select the correct answer for the given blank out of the four alternatives. 

Science is all about details, precision, accuracy, and it is ____________ 99 per cent perspiration. 

The beauty and joy in doing science lies in those rare moments _____________ the pieces of a 

puzzle magically come together. To adapt from Shelley, the shadow indeed becomes 

____________ important than the substance. I suppose one could put some of this together and 
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disseminate a simplified, sanitised version to the public but in the end, science is a ___________ 

individualistic, personal affair. Most honest scientists will tell you that they are ever so grateful that 

they are _____________ by their governments to do something that they would have done anyhow 

for free. 

they are ever so grateful that they are _____________ by their governments 

Options: 

1) to pay 

2) being paid 

3) pay up 

4) paying 

Correct Answer: being paid 

 

QID : 676 - Census in India is generally done after how many years? 

Options: 

1) 10 

2) 2 

3) 5 

4) 20 

Correct Answer: 10 

 

QID : 677 - Which Schedule of Indian Constitution deals with division of powers between the union 

and the states? 

Options: 

1) Sixth Schedule 

2) Seventh Schedule 

3) Eighth Schedule 

4) Ninth Schedule 

Correct Answer: Seventh Schedule 

 

QID : 678 - In which article of Indian constitution of India there is a provision of  a Governor for each 

state? 

Options: 

1) Article 153  

2) Article148 

3) Article 61 
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4) Article 178 

Correct Answer: Article 153  

 

QID : 679 - During the British rule in India Holt Mackenzie was known for _______.  

Options: 

1) Mahalwari system 

2) Ryotwari system 

3) Permanent settlement 

4) use of English Language in Education 

Correct Answer: Mahalwari system 

QID : 680 - In which year was the historic Lucknow Pact signed? 

Options: 

1) 1910 

2) 1916 

3) 1920 

4) 1919 

Correct Answer: 1916 

 

QID : 681 - In which book were many of the Chanakya’s ideas written down? 

Options: 

1) Puranas 

2) Rajatarangini 

3) Arthshastra 

4) Mahapravaas 

Correct Answer: Arthshastra 

  

QID : 682 - In which hemisphere does India lie? 

Options: 

1) Southern and Eastern 

2) Northern and Eastern 

3) Southern and Western 

4) Northern and Western 

Correct Answer: Northern and Eastern 

 

QID : 683 -  Out of which sea the Himalayas were uplifted? 
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Options: 

1) Tethys Sea 

2) Coral sea 

3) Eural sea 

4) No option is correct 

Correct Answer: Tethys Sea 

  

QID : 684 - The northern part of the western coast is called ______. 

Options: 

1) Kannad Plain 

2) Malabar coast 

3) Konkan 

4) Coromandel coast 

Correct Answer: Konkan 

 

QID : 685 - A wet, swampy and marshy region in the northern plain is called ______. 

Options: 

1) Bhabar 

2) Khadar 

3) Terai 

4) Kankar 

Correct Answer: Terai 

  

QID : 686 - 'Cape of Good Hope' is located in which country?  

Options: 

1) India 

2) South Africa 

3) Australia 

4) Brazil 

Correct Answer: South Africa 

 

QID : 687 - Which of the following is not among the six major controls of the climate in India? 

Options: 

1) Latitude 

2) Altitude 

3) Disturbance from the sea 
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4) Population 

Correct Answer: Population 

 

QID : 688 - In what ratio tea at Rs 240 per kg be mixed with tea at Rs 300 per kg so that on selling 

the mixture at Rs 336 per kg there is a profit of 20%? 

Options: 

1) 1 : 2 

2) 2 : 3 

3) 3 : 4 

4) 1 : 1 

Correct Answer: 1 : 2 

 

QID : 689 - The force, which takes an angle area towards a page, is called ______. 

Options: 

1) Gravitation force 

2) Magnetic force 

3) Friction 

4) Pressure 

Correct Answer: Pressure 

QID : 690 - Whittaker classified organisims into how many kingdoms? 

Options: 

1) 3 

2) 5 

3) 7 

4) 9 

Correct Answer: 5 

 

QID : 691 - What is the chemical formula of chloroform? 

Options: 

1) CCl4 

2) CHCl3 

3) CH4 

4) CH3 OH 

Correct Answer: CHCl3 

QID : 692 - The National Institution for Transforming India (NITI Aayog) launched National Nutrition 

Strategy aimed at ______. 
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Options: 

1) Rog Mukt Bharat 

2) Kuposhan Mukt Bharat 

3) Pradushan Mukt Bharat 

4) Shashakt Bharat 

Correct Answer: Kuposhan Mukt Bharat 

 

QID : 693 - What is the name of world’s biggest and powerful nuclear powered icebreaker ship 

launched by Russia? 

Options: 

1) Arctic 

2) Sibir 

3) Ural 

4) Baltic 

Correct Answer: Sibir 

QID : 694 - Who won men's single title of 2017 US Open tennis championship? 

Options: 

1) Rafael Nadal 

2) Kevin Anderson 

3) HoriaTecau 

4) Andy Murray 

Correct Answer: Rafael Nadal 

 

QID : 695 - India and its which neighbouring country are counting tiger heads for the first time using 

same method recognized internationally? 

Options: 

1) Bangladesh 

2) Bhutan 

3) Pakistan 

4) Nepal 

Correct Answer: Nepal 

QID : 696 - Carnatic vocalist T. M. Krishna won 30th Indira Gandhi Award for ______ for 2015-2016. 

Options: 

1) Public Welfare 

2) National Integration 

3) Economic Development 



WWW.ALLEXAMREVIEW.COM                                        WWW.ALLEXAMREVIEW.IN 

37 | P a g e  

 

4) Literature 

Correct Answer: National Integration 

 

QID : 697 - What is India’s rank in World Bank’s Ease of Doing Business Report, 2018? 

Options: 

1) 130 

2) 100 

3) 80 

4) 60 

Correct Answer: 100 

 

QID : 698 - India became the 71st country to ratify which of the following Conventions? 

Options: 

1) United Nations TIR (Transports Internationaux Routiers) 

2) Ramsar 

3) The British House of Commons 

4) Newfoundland National Committee 

Correct Answer: United Nations TIR (Transports Internationaux Routiers) 

QID : 699 - The Union Government of India has launched which project to ensure conservation of 

Himalayan ecosystem? 

Options: 

1) SECURE Himalaya 

2) SAFE Himalaya 

3) SOFT Himalaya 

4) SUSTAIN Himalaya 

Correct Answer: SECURE Himalaya 

 

QID : 700 - Commemorative coins of Rs. 100 and Rs. 10 denomination were released on 101st Birth 

Centenary of noted ______ Dr. MS Subbulakshmi. 

Options: 

1) Carnatic Musician 

2) Economist 

3) Actor 

4) Director 

Correct Answer: Carnatic Musician 
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QID : 1101 - A copper wire is 3 meter long and has a uniform cross-section of 0.6 square mm. At 

room temperature, the resistance of the wire is 0.183 ohms. What is the resistivity of the material? 

Options: 

1) 3.06 x 10-8 Ωm 

2) 3.66 x 10-8 Ωm 

3) 3.26 x 10-4 Ωm 

4) 3.23 x 10-6 Ωm 

Correct Answer: 3.66 x 10-8 Ωm 

  

QID : 1102 - In order to cover a large area of a dielectric medium, the capacitance should be 

_______. 

Options: 

1) Very high 

2) Low 

3) Zero 

4) Extremely low 

Correct Answer: Very high 

 

QID : 1103 - An LED made using GaP emits radiation in _______. 

Options: 

1) Visible region 

2) Ultraviolet region 

3) Infrared region 

4) Green radiation 

Correct Answer: Green radiation 

  

QID : 1104 - What type of chemical bonding is present in a germanium semiconductor ? 

Options: 

1) Metallic 

2) Covalent 

3) Chemical 

4) Ionic 

Correct Answer: Covalent 

 

 

 QID : 1105 - Which capacitor has the maximum capacitance per unit volume? 
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Options: 

1) Air capacitor 

2) Mica capacitor 

3) Ceramic capacitor 

4) Electrolytic capacitor 

Correct Answer: Electrolytic capacitor 

 

QID : 1106 - Consider the following semiconductor diodes: 

(i). Germanium diode 

(ii). Silicon diode 

(iii). Schottky diode 

(iv). Tunnel diode 

The correct sequence of forward voltage drop in the decreasing order is: 

Options: 

1) 1,3,2,4 

2) 1,2,3,4 

3) 3,4,2,1 

4) 2,3,1,4 

Correct Answer: 2,3,1,4 

  

QID : 1107 -  

 

Options: 

1) 0.5 W 

2) 1 W 

3) 3.125 W 
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4) 3 W 

Correct Answer: 3.125 W 

  

QID : 1108 - A diode when connected in series with the output, then the circuit is called ______. 

Options: 

1) Limiter 

2) Series clipper 

3) Parallel Clipper 

4) IC voltage regulator 

Correct Answer: Series clipper 

QID : 1109 - A device is referred to as the linear device when the graph between the current and 

voltage across the device is a _____ . 

Options: 

1) Exponential 

2) Non-exponential 

3) Straight line 

4) Constant 

Correct Answer: Straight line 

  

QID : 1110 - Calculate the hall voltage when the magnetic field is 8 A/m, current is 4 A, width is 5 m 

and the concentration of carrier is 100000. 

Options: 

1) 4.125 V 

2) 0.3125 V 

3) 4.2 V 

4) 0.4 V 

Correct Answer: 0.4 V 

  

QID : 1111 - Using which diode in a regulated power supply, the unregulated input voltage as 

compared to the regulated output voltage will be larger? 

Options: 

1) Photo diode 

2) p-n junction diode 

3) Zener diode 

4) Gunn diode 

Correct Answer: Zener diode 
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QID : 1112 - Which region covers the highest area in a transistor? 

Options: 

1) Emitter 

2) Collector 

3) Base 

4) Base-emitter 

Correct Answer: Collector 

  

QID : 1113 - What is the region of operation of the bipolar junction transistor (BJT) where both the 

junctions are in forward biased? 

Options: 

1) Active region 

2) Ohmic region 

3) Saturation region 

4) Cut-off 

Correct Answer: Saturation region 

 

QID : 1114 - Which among the following are the disadvantages of FET over BJT: 

i. It has high input resistance 

ii. It has a large bandwidth 

iii. It is more noisy 

iv. It only allows the flow of majority charge carriers 

Options: 

1) 1 and 3 

2) 2 and 4 

3) 3 and 2 

4) 4 only 

Correct Answer: 4 only 

  

QID : 1115 - Which circuit takes the less chip area in large scale integration? 

Options: 

1) TTL logic circuits 

2) Bipolar circuits 

3) High power circuits 

4) CMOS circuits 
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Correct Answer: CMOS circuits 

  

QID : 1116 -  

  

Options: 

1) 15.00Ω 

2) 47.23Ω 

3) 1kΩ 

4) 78.12Ω 

Correct Answer: 78.12Ω 

  

QID : 1117 - Consider the following: 

i. MOSFET can be used as a voltage controlled capacitor. 

ii. MOSFET can be used both as a voltage and a current controlled inductor. 
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Options: 

1) (i) is True but (ii) is False 

2) (ii) is True but (i) is False 

3) Only (i) is true. 

4) Both (i) and (ii) are True 

Correct Answer: Only (i) is true. 

 

QID : 1118 - The voltage gain of an amplifier without feedback and with negative feedback are 140 

and 30 respectively. The percentage of negative feedback (beta) is: 

Options: 

1) 3% 

2) 4% 

3) 5% 

4) 2% 

Correct Answer: 3% 

  

QID : 1119 - What are the properties of a power amplifier that are to be considered while designing a 

good power amplifier circuit? 

Options: 

1) Distortion, gain and bias stabilization 

2) Frequency response 

3) Sensitivity 

4) All options are correct 

Correct Answer: Distortion, gain and bias stabilization 

  

QID : 1120 - A tuned amplifier has a peak output of 9 MHz and quality factor of 90. What is the 

bandwidth of the tuned amplifier? 

Options: 

1) 100 MHz 

2) 100 kHz 

3) 5.4 MHz 

4) 6.05 MHz 

Correct Answer: 100 kHz 

  

QID : 1121 - A common emitter transistor amplifier has a collector load of 40 k-Ω, voltage gain is 400 

and input resistance is 2 k-Ω. Calculate the value of voltage amplification of the amplifier. 
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Options: 

1) 500 

2) 2000 

3) 8000 

4) 7500 

Correct Answer: 8000 

 

QID : 1122 - Determine the number of different node pair voltages for a network with 9 nodes and 18 

branches. 

Options: 

1) 7 

2) 10 

3) 45 

4) 36 

Correct Answer: 36 

  

QID : 1123 - Which among the following theorems can be applied to any active or passive network? 

Options: 

1) Thevenin’s theorem 

2) Tellegen theorem 

3) Superposition theorem 

4) Norton theorem 

Correct Answer: Tellegen theorem 
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QID : 1124 -  

 

Options: 

1) 2 A and 2 ohms 

2) 3.5 A and 1 ohms 

3) 0.41 A and 4.4 ohms 

4) 1 A and 2 ohms 

Correct Answer: 0.41 A and 4.4 ohms 

 

QID : 1125 - An RLC resonant circuit has a resonance frequency of 2.5 mHz and a bandwidth of 20 

kHz. If capacitance is 115 pF, then effective resistance (in ohms) of the circuit will be ___________. 

Options: 

1) 29.5 

2) 4.7 

3) 14.75 

4) 2.66 

Correct Answer: 2.66 

  

QID : 1126 - The current at resonance in RLC series circuit is ______________. 

Options: 

1) Maximum 

2) Minimum 

3) Zero 
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4) Infinite 

Correct Answer: Maximum 

  

QID : 1127 - The SI unit of reactive power and apparent power are _______ and _______ 

respectively. 

Options: 

1) VAR and VA 

2) kVA and VAR 

3) VA and kV 

4) kA and VA 

Correct Answer: VAR and VA 

QID : 1128 - A parallel RLC circuit has 25 ohm resistor, 10 mH inductor and a 2.5 µF capacitor 

connected in parallel across a 50 V, 100 Hz AC supply. Calculate the total impedance, conductance 

and admittance produced by the circuit. 

Options: 

1)  

 

2)  

 

3)  

 

4)  

 

Correct Answer:  
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QID : 1129 -  

 

Options: 

1) 1.1456 A 

2) 0 A 

3) 0.074 A 

4) 1.234 A 

Correct Answer: 0.074 A 
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QID : 1130 -  

 

Options: 

1) 200 

2) 400 

3) 0 

4) 1000 

Correct Answer: 1000 

  

QID : 1131 - What does the superposition theorem determines when applied to a linear network? 

Options: 

1) The current and voltage responds 

2) Only current responds 

3) Only voltage responds 

4) The power responds 

Correct Answer: The current and voltage responds 

  

QID : 1132 - What is the condition for the maximum power delivered from a source to its load? 

Options: 

1) Load resistance greater than the source resistance 

2) Load resistance less than the source resistance 
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3) Load resistance equal the source resistance 

4) Load resistance less than or equal to the source resistance 

Correct Answer: Load resistance equal the source resistance 

  

QID : 1133 - A series RC circuit has 5 k-Ω resistor and a 2.5 µF capacitor connected across 20 V, 

500 Hz supply. Calculate the total impedance and conductive reactance. 

Options: 

1)  

 

2)  

 

3)  

 

4)  

 

Correct Answer:  

QID : 1134 - The relation between the line voltage and the phase voltage in a delta connected load 

is given by: 

Options: 

1) Line voltage > phase voltage 

2) Line voltage = phase voltage 

3) Line voltage = √3 Phase voltage 

4) Line voltage = 1/√3 Phase voltage 

Correct Answer: Line voltage = phase voltage 

 

QID : 1135 - In a balanced star connected power system the line voltage is 480 volts then calculate 

the phase voltage. 

Options: 

1) 277.1 V 

2) 480 V 
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3) 470 V 

4) 831.3 V 

Correct Answer: 277.1 V 

  

QID : 1136 - What is the term for the power factor in an RLC series circuit, just below and just above 

the resonant frequency respectively? 

Options: 

1) Both lagging 

2) Both leading 

3) Lagging and leading 

4) Leading and lagging 

Correct Answer: Leading and lagging 

  

QID : 1137 - A star connected network consumes a power of 20 kW with a power factor of 0.8. 

Calculate the value of resistance of each coil when a supply voltage of 230 volts and 50 Hz is 

supplied between two phases of the network. 

Options: 

1) 8 ohms 

2) 1.23 ohms 

3) 1 ohm 

4) 1.692 ohms 

Correct Answer: 1.692 ohms 

  

QID : 1138 - Calculate the impedance, if inductive reactance is 100 ohms and resistance is 150 

ohms. 

Options: 

1) 150 ohms 

2) 141.4 ohms 

3) 180.27 ohms 

4) 100 ohms 

Correct Answer: 180.27 ohms 

QID : 1139 - Which among the following has SI unit of siemens? 

Options: 

1) Conductance 

2) Inductance 

3) Resistance 
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4) Impedance 

Correct Answer: Conductance 

 

QID : 1140 - How much electricity is consumed by a 200-watt bulb, when kept ON for at least 8 

hours continuously? 

Options: 

1) 100 watts 

2) 1600 watts per hour 

3) 100 watts per hour 

4) 1 kilo watt hour 

Correct Answer: 1600 watts per hour 

 

QID : 1141 - Determine the resolution of a flash type ADC which employs 25 comparators with a 

reference voltage of 10 volts. 

Options: 

1) 0.625 V 

2) 0.656 V 

3) 0.3125 V 

4) 0.525 V 

Correct Answer: 0.3125 V 

  

QID : 1142 - which gate has the highest speed of operation. 

Options: 

1) ECL gate 

2) Universal gate 

3) Logic gate 

4) Both logic and universal gate 

Correct Answer: ECL gate 

  

QID : 1143 - A full adder combinational circuit has _______. 

Options: 

1) 3 inputs and 2 outputs 

2) 2 inputs and 0 outputs 

3) 1 input and 0 output 

4) 4 inputs and 1 output 
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Correct Answer: 3 inputs and 2 outputs 

  

QID : 1144 - The memory that uses one transistor and one capacitor as a basic memory unit is 

_______. 

Options: 

1) DRAM 

2) SRAM 

3) RAM 

4) Both SRAM and DRAM 

Correct Answer: DRAM 

  

QID : 1145 - Which among the following multivibrators is unstable in any state? 

Options: 

1) Astable multivibrator 

2) Bistable multivibrator 

3) Monostable multivibrator 

4) Both astable and bistable multivibrator 

Correct Answer: Astable multivibrator 

  

QID : 1146 -  

   

Options: 

1) NOR gate 

2) XNOR gate 

3) AND gate 
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4) OR gate 

Correct Answer: NOR gate 

  

QID : 1147 - A 4 bit uniform quantization PCM system can attain a signal ranging from -2 to +2 V. 

The rms value of the signal is 0.5 V. What is the signal to quantization noise ratio? 

Options: 

1) 30 dB 

2) 46.91 dB 

3) 25.84 dB 

4) 40 dB 

Correct Answer: 25.84 dB 

QID : 1148 - Quantization is a _______ and a/an _______ process. 

Options: 

1) Non-linear and irreversible 

2) Linear and irreversible 

3) Non-linear and reversible 

4) Linear and reversible 

Correct Answer: Non-linear and irreversible 

  

QID : 1149 - If the current flowing in the antenna is 17 A which radiates a signal of power 15.028 

kW, then what will be the radiation resistance (in ohms) of the antenna? 

Options: 

1) 3.2 

2) 5.2 

3) 32 

4) 52 

Correct Answer: 52 

  

QID : 1150 - The antenna current of an AM transmitter is 6 A. Determine the antenna current of the 

transmitter when the percent of modulation changes to 0.4. 

Options: 

1) 9.19 A 

2) 7.56 A 

3) 6.23 A 
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4) 9.91 A 

Correct Answer: 6.23 A 

  

QID : 1151 - Calculate the speed capacity of the channel (in Mbps) when the TV picture is 

transmitted over a channel of with 25 dB S/N ratio. 

Options: 

1) 72 Mbps 

2) 27 Mbps 

3) 92 Mbps 

4) 74.4 Mbps 

74.4 एमबीपीएस 

Correct Answer: 74.4 Mbps 

 

QID : 1152 - In delta modulation system, the granular noise is produced by which of the following? 

Options: 

1) Pulse rate decrease 

2) Pulse amplitude decreases 

3) Modulating signals increase 

4) Modulating Signals remains constant 

Correct Answer: Modulating Signals remains constant 

  

QID : 1153 - Which among the following transmits the data samples over a single channel? 

Options: 

1) TDM 

2) FDM 

3) PCM 

4) PTM 

Correct Answer: TDM 

 

QID : 1154 - Which signal is generated by using a mono stable multivibrator? 

Options: 

1) PCM 

2) TDM 

3) PAM 

4) PWM 

Correct Answer: PCM 
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QID : 1155 - Which filter is used to detect the PAM signal? 

Options: 

1) Low pass filter 

2) High pass filter 

3) Band pass filter 

4) All band pass filter 

Correct Answer: Low pass filter 

  

QID : 1156 - Find the 2’s compliment of a 8 bit number that is represented as 28 in decimal number 

system. 

Options: 

1) 11010110 

2) 11100100 

3) 00011101 

4) 11100010 

Correct Answer: 11100100 

  

QID : 1157 - Pilot carrier in SSB modulation is used for 

Options: 

1) To provide better noise immunity 

2) Low power consumption 

3) Frequency stability 

4) Reduction of carrier frequency 

Correct Answer: Frequency stability 

 

QID : 1158 - FSK modulation is mostly applied in 

Options: 

1) Telegraphy 

2) Fiber transmission line 

3) Waveguide 

4) Tuned circuit 

Correct Answer: Telegraphy 

 

QID : 1159 - Pre- emphasis circuit in FM transmitter is used 
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Options: 

1) to increase the bandwidth of the side band. 

2) to improve the signal to noise ratio at low audio frequencies. 

3) to improve the signal to noise ratio at high audio frequencies. 

4) to increase the carrier power. 

Correct Answer: to improve the signal to noise ratio at high audio frequencies. 

 

QID : 1160 - Arrange the following components sequentially from the output to input in a super 

heterodyne receiver. 

i. Antenna 

ii. IF amplifier 

iii. Mixer 

iv. Audio amplifier 

Options: 

1) i, ii, iii and iv 

2) iv, iii, ii and i 

3) i, iii, iv and ii 

4) iv, ii, iii, and i 

Correct Answer: iv, ii, iii, and i 

  

QID : 1161 - The auto correction function of white noise is represented as ____________. 

Options: 

1) uniform 

2) delta 

3) gaussian 

4) non-uniform 

Correct Answer: delta 

QID : 1162 - Optical fiber operates in 

Options: 

1) Visible light band 

2) Ultraviolet band 

3) Infra red band 

4) Ultraviolet, visible and infrared band 

Correct Answer: Ultraviolet, visible and infrared band 

 

QID : 1163 - The output of source encoder is 
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Options: 

1) An analog signal 

2) Sequence of binary digits 

3) A digital signal 

4) A triangular wave 

Correct Answer: Sequence of binary digits 

  

QID : 1164 - In a parallel RL circuit, the current always _____ the applied voltage. 

Options: 

1) leads 

2) lags 

3) remains in phase with 

4) None of these 

Correct Answer: lags 

  

QID : 1165 - Which modulator is used for the generation of DSB-SC signal? 

Options: 

1) Balanced modulator 

2) Square law modulator 

3) Armstrong phase modulator 

4) Envelope detector 

Correct Answer: Balanced modulator 

 

QID : 1166 - What is the frequency range of VHF in electromagnetic spectrum? 

Options: 

1) 30 MHz to 300 MHz 

2) 3 GHz to 30 GHz 

3) 30 GHz to 300 GHz 

4) 3 MHz to 30 MHz 

Correct Answer: 30 MHz to 300 MHz 

  

QID : 1167 - Waveguides are employed as a transmission lines for propagation of 

Options: 

1) Analog signals 

2) Digital signals 
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3) Line signals 

4) Microwave signals 

Correct Answer: Microwave signals 

  

QID : 1168 - What is the frequency range of UHF signals? 

Options: 

1) 3 MHz to 30 MHz 

2) 25 MHz to 3 GHz 

3) 300 MHz to 3 GHz 

4) 300 kHz to 3 MHz 

Correct Answer: 300 MHz to 3 GHz 

  

QID : 1169 - What is the function of transmitter in the communication system? 

Options: 

1) Provides the information 

2) Processes the information 

3) Modulates the signal 

4) Rectify the input signal 

Correct Answer: Processes the information 

  

QID : 1170 - Noise is measured in_______. 

Options: 

1) Decibel 

2) Mel 

3) Phon 

4) Zone 

Correct Answer: Decibel 

  

QID : 1171 - Correlation receiver and phase locked loop are used in____________. 

Options: 

1) FSK reception. 

2) PSK reception. 

3) ASK reception. 

4) both ASK and PSK. 

Correct Answer: FSK reception. 
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QID : 1172 - Which of the following modulating techniques requires minimum bandwidth? 

Options: 

1) Delta modulation

2) PCM

3) PAM

4) DPCM

Correct Answer: Delta modulation 

QID : 1173 - Which of the following is not used for the demodulation of SSB? 

Options: 

1) Product demodulator

2) Diode balanced modulator

3) Complete phase shift generator

4) Bipolar transistor balanced modulator

Correct Answer: Bipolar transistor balanced modulator 

QID : 1174 - Which of the following block is not present in AM but present in FM receivers? 

Options: 

1) RF amplifier

2) Slope detector

3) IF amplifier

4) Mixer

Correct Answer: Slope detector 

QID : 1175 - Attenuation per unit length in a coaxial cable with frequency_____. 

Options: 

1) Increases

2) Decreases

3) Remains constant

4) Becomes Zero

Correct Answer: Increases 

QID : 1176 - Nyquist interval rate for the signal x(t) = cos c (2000 t) + cos c (500 t), is_______. 

Options: 

1) 700 Hz
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2) 1400 Hz

3) 4 kHz

4) 5 kHz

Correct Answer: 4 kHz 

QID : 1177 - Which of these are the digital modulation techniques? 

Options: 

1) ASK

2) PAM

3) FM

4) PCM

Correct Answer: PCM 

QID : 1178 - Which of the following is NOT correct when referring to AM and FM? 

Options: 

1) FM is more susceptible to noise as compared to AM

2) AM can transmit at longer distance as compared to FM.

3) Phase remains constant in AM.

4) FM signal has higher bandwidth than AM

Correct Answer: AM can transmit at longer distance as compared to FM. 

QID : 1179 - Which local oscillator is used in radio receiver? 

Options: 

1) Crystal oscillator

2) Hartley oscillator

3) RC-phase shift oscillator

4) Wein-bridge oscillator

Correct Answer: Hartley oscillator 

QID : 1180 - Audio and video signal in the television broadcast is done by_________. 

Options: 

1) Amplitude and Frequency modulation

2) Phase and amplitude modulation

3) Frequency and angle modulation

4) Both by frequency modulation

Correct Answer: Amplitude and Frequency modulation 
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QID : 1181 - Which among the following is/are the advantages of digital communication? 

Options: 

1) Simple multiplexing

2) Reliable

3) Easy processing and signaling

4) All of the these

Correct Answer: All of the these 

QID : 1182 - Which among the given expressions is the Product of Sum form? 

Options: 

1) (b+c)(a+b)

2) ac-bd

3) ab+cd

4) ab(cd)

Correct Answer: (b+c)(a+b) 

QID : 1183 - The distributive law of Boolean algebra states: 

Options: 

1)  

2) 

3) 

4) 

Correct Answer: 

QID : 1184 - The Boolean expression AB + ABC equals. 

Options: 

1) BC
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2) ABC

3) AB + BC

4) AB

Correct Answer: AB 

QID : 1185 - 

Options: 

1) 

2) 

3) 

4) 

Correct Answer: 

QID : 1186 - Calculate the baud rate of the ASK signal having the bit rate of 300 bps. 

Options: 

1) 100

2) 250

3) 300
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4) 75

Correct Answer: 300 

QID : 1187 - Which among the following are the advantages of Yagi antenna? 

i. It has gain to allow lower strength

ii. The antenna becomes strong for high gain levels

iii. It can be easily mounted

iv. It is mechanically relatively straight forward.

Options: 

1) i, iii and iv

2) i, ii and iv

3) ii, iii, and iv

4) Only ii

Correct Answer: i, iii and iv 

QID : 1188 - The propagation of radio wave signals through reflection from ionosphere is known 

as________. 

Options: 

1) Sky wave propagation

2) Ground wave propagation

3) Space wave propagation

4) Tropospheric wave propagation

Correct Answer: Sky wave propagation 

QID : 1189 - Which array uses two half wave dipoles spaced along with one-half wavelength apart? 

Options: 

1) Broad-end array

2) End-fire array

3) Back-fire array

4) Binomial array

Correct Answer: End-fire array 

QID : 1190 - Broadside antenna array is ________ in nature and has ____ gain. 

Options: 

1) Unidirectional and low

2) Multidirectional and very low
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3) Bidirectional and high

4) Both unidirectional and multidirectional

Correct Answer: Bidirectional and high 

QID : 1191 - What is the maximum distance up to which the TV transmission can be received if the 

height of a TV broadcasting tower is 85 meter ? (Radius of earth = 6,400,000 m) 

Options: 

1) 62 km

2) 31 km

3) 32.98 km

4) 30 km

Correct Answer: 32.98 km 

QID : 1192 - Calculate the radiation resistance of an antenna of length λ/8 m ( λ is the wavelength). 

Options: 

1) 10

2) 8

3) 12.33

4) 12.8

Correct Answer: 12.33 

QID : 1193 - In which of the following the phase of the carrier wave changes in accordance with 

intensity of light. 

Options: 

1) AM

2) PM

3) FM

4) PAM

Correct Answer: PM 

QID : 1194 - VSB modulation is termed as ___________. 

Options: 

1) Vestigial side band

2) Vertical side band

3) Single side-band

4) Variable side band
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Correct Answer: Vestigial side band 

QID : 1195 - Which of the following is/are the advantages of DSB-SC over SSB-SC? 

I. It has lower power consumption 

II. It needs half of the bandwidth

III. It is used for transmitting stereo information

IV. It has two side bands with no carrier

Options: 

1) I only

2) I,II and IV

3) I,III and IV

4) II only

Correct Answer: I,III and IV 

QID : 1196 - What is the main advantage of parabolic antenna? 

Options: 

1) High directivity

2) wide bandwidth

3) small wavelength

4) low directivity

Correct Answer: High directivity 

QID : 1197 - For an amplitude modulated wave, he maximum amplitude is found to be 20 V while 

the minimum amplitude to be 4.5 V. Calculate the modulation index. 

Options: 

1) 0.62

2) 0.67

3) 0.26

4) 0.632

Correct Answer: 0.632 

QID : 1198 - Modulation index is generally kept________. 

Options: 

1) Less than 1

2) Greater than 1
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3) Equal to 1

4) Zero

Correct Answer: Less than 1 

QID : 1199 - Which of the following modulations has higher bandwidth among the others? 

Options: 

1) PCM

2) DM

3) ADM

4) DPCM

Correct Answer: PCM 

QID : 1200 - Encoding technique is selected on the basis of 

i. Efficiency

ii. Error

iii. Power level

Options: 

1) Only i

2) Only ii

3) Only iii

4) i, ii and iii

Correct Answer: i, ii and iii 


